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Test One

Part I Listening Comprehension

Section A

Directions: I'n this section, you will hear 10 short conversations. At the end
of each conversation, a question will be asked about what was said. Both the
conversation and the question will be read only once. After each question there
will be a pause. During the pause, you must read the four choices marked A,
Bs C and D, and decide which is the best answer. Then mark the
corresponding letter on the Answer Sheet with a single line through the cen-
ter.

1. They are weeping.

@ p

They are on a plane

o

They are waiting at the airport.

They are watching TV.

.

Simon has gone to the Fair.

-

The two speakers are Simon and Ali.
Maybe Ali has gone to the Fair.
Simon as sure where Ali was.

It will rain, so she won’t go to the railway station.

It won't rain, so she will go to the railway station.

If it rains, she will go to the railway station.

JSOWPTOW R

If it doesn’t rain, she will go to the railways station.



Green B. Gray

None D. All of them
In the office B. In a store

At the post office D. At the airport
The contest is difficult.

o
@ >0 >0

Py

The contest is difficult except the last three questions.
The contest isn’t difficult.
The contest isn’t difficult except the last three questions.

. She has written a tetter to her pareats.

@ > 90

She has put the letter to her parents in her mailbox.
Mary has put her parents’ letter in her mailbox.
Her parents’ letter been has in her mailbox.

. He wants to play another computer game,

He doesn't want to play computer games.

He doesn’t want to change the computer game.

He prefers’ the previous computer game.

2 749 B. 2 947

2 497 D. 2479

10. A. He will go with them to the show.

9.

OPPTOWEUO

B. He will do his assignments after the show.

C. He has to do his assignments instead of going the show.

D. He doesn’t like to go to the show.
Section B
Directions : In this section you will hear two or three short passages. At the
end of each passage, you will hear some questions. Both the passage and the
questions will be spoken two times. After you hear a question, you must choose
the best answer from the four choices marked A,BsC and D. Then mark the
corresponding letter on the Answer Sheet with a single line through the cen-

ter.
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Passage 1

Questions 11 to 15 are based on the passage you have just heard.

11. A. They expand. B. They spread.
. They are spared. D. They can be spent.
12. A. He takes a thermometer. B. He takes his temperature.
C. He keeps him warm. D. He watches him.
13. A. measuring tongue B. counting
C. measuring temperature D. measuring tube
14. A. time B. temperature
C. if the mercury expands D. illness
15. A. metal B. wood
C. glass D. water
Passage 2

Question 16 to 20 are based on the passage you have just ieard.

16.

17.

18.

19.

20

A.

C.
A
B.
C
D
A
B.
C
D
A
B.
C
D
. AL

In India B. In Europe
In Africa D. In America

. Columbus told them.

American Indians told them.

. Doctors told them.
. They know it from newspaper.

. The put long tubes in their mouths and draw the smoke.

The draw smoke from the other end.

. The use a water tube to draw the smoke.
. The put the tobacco in a tube and draw the smoke.

. He used it with other plants.

He used it to treat guests.

. He used the leaves of the tobacco to cure pain.

. He used it for pleasure.

something in tobacco




B. something related to Nicot's name

C. something that causes pain

D. both A and B

Part I1 Vocabulary and Structure

Directions ; Each of the following sentences is provided with four choices

marked A, B, C and D. Choose the one answer that completes the sentence.

Then mark the corresponding letter on the Answer Sheet with a single line

through the letter.

21.

22.

23.

24.

25.

The Chinese mainland is abundant agricultural and

mineral resources.

A. in B. on
C. for D. with
But if you knew all the circumstances you me. It

wasn't my fault actually,
A. would have forgiven B. would forgive
C. might have forgiven . D. must {orgive
on a small island in New York Harbor, the Statue of

Liberty is a symbol of American democracy.

A. Stand B. Being stood

C. Standing D. stood

The negotiations ____ because neither side would compro-
mise.

A. broke up B. broke away

C. broke down D. broke in

Once my family lived in a small house and I had to share a
room with my two sisters but now we each a bedroom
and it’s very comfortable.

A. has B. have



26.

27.

28.

29.

30.

31.

32.

33.

C. had D. having

_ for these defects he would have been rather hand-
some.
A X B. Just
C. Not D. But
Peter, who had been driving all day, suggested  at the
next town.
A. to stop B. stop
C. stopping D. stopped
This exerciseis ____ from Book V of English for Today and
absolutely meets our needs.
A. adjusted B. adapted
C. addressed D. adopted
I was just coming along to see you __ Iran into Wilson,

one of my old friends.

A. while B. as .
C. when D. before

The invading army _ all the provisions in the town.
A. carried out B. carried off

C. carried forward D. carried on

[.eonardo had been since 1506 at the French court in Milan
he continued to refine his portrait of “Mona Lisa”.
A. there B. that

C. where D. when

There is no very easy approach __ mathematics.

A. to B. for

C. in : D. on

Do you remember ____ a check for Mr. Walter last Friday?

He asked me to thank you.




34.

35.

36.

37.

38.

39.

40.

A. to cash B. cash
C. cashing D. cashed
I'm grateful because you have taken _ to show me how

to do the work.

A. efforts B. attempts
C. endeavors D. pains
were the restrictions that prevented blacks voting.
A. Gone B. Going
C. Go D. Having gone
In the middle of the summer, fresh oranges are ____ but

they still sell well in this area.

A. cheap ’ B. inexpensive

C. dear D. dearly

They said the house was __ large _ bright so they
wouldn't rent it despite its low price.

A. neither - nor B. neither =+ or

C. neither ** and D. either «-- or

It was stupid _ them to leave their bicycles outside and

have them stolen.

A. of B. for
C. with D. about
—-—He says he’s still reading the novel.
He  still be reading it. T lent it to him ages ago and
it's quite short.
A. can't B. mustn't
C. won't D. shouldn't
He acquired an __ desire to see his mother who had been

away since he was only three years old.

A. intentional B. intense



41.

42.

43.

44,

45.

46.

47.

C. intent D. intensive
It is necessary that he to the School of Art, after all

he needs some professional instruction.

A. goes B. will go

C. go D. has gone

I consider him to be the only one of all my friends that

me.

A. understand B. understands

C. understood D. understanding

Her father, ___ was lately dead, had left her a large prop-
erty.

A. he ' B. that

C. which D. who

The unconscious man slowly began to come ___, which

was a relief to them.

A. come up B. come out
C. come through D. come round
The general commanded the soldiers the enemy and

defend their country.

A. attack B. to attack
C. attacking D. attacked
—— Who is the man over there?

—— He is a friend of

A. my father B. my father's

C. myself D. me

The court ordered him to pay $1000in ____ for the acci-
dent.

A. injuries B. harms

C. damages D. dangers



48. This machine which T have used for 20 years _ still

working perfectly now.

A. are B. is
C. were D. was
49. Tt was late afternoon that they began to discuss the

major problem.

A. until B. not until
C. till D. not till
50. We can gain some time if we __ this field.
A. cut down B. cut short
C. cutin D. cut across

Part III Reading Comprehension

Directions ; There are 4 reading passages in the part. Each passage is fol-
lowed by some questions or unfinished statements. For each of them there are
four choices marked A, B, C and D. You should decide on the best choice and
mark the corresponding letter on the Answer Sheet with a single line through

the center.
Passage 1

No matter how employees feel about work their primary moti-
vation to work is to earn a living. People’s attitudes towards
their jobs are related to the nature of their work and the rewards
they receive. For the factory worker, work is a necessary evil
which merely ensures survival, The corporation president sees
work as a way of obtaining material goods far beyond what is
‘necessary for survival. The teacher and the librarian, although
not highly paid, find intellectual stimulation and personal gratifi-
cation in their jobs.

There are some people, however, who do succeed in raising
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their economic and social levels. “Upward (occupational) mobili-
ty” or “climbing the ladder” are terms that refer to one’s ad-
vancement in work. Many employees have a succession of jobs
that constitute a career. Some businesses, organizations, gov-
ernment agencies, and firms provide employees with opportuni-
ties to progress to higher positions. Promotions and increased re-
sponsibility generally bring higher salaries.

Rewards for achievement in work are personal as well as finan-

cial. There is increased job satisfaction when employees have the

opportunity to develop creative and intellectual skills. Gaining

recognition from fellow workers, supervisors (¥ T ) and man-
agers gives one a sense of importance and identity in society.
51. How do people usually feel about their motivation to work?
A. They believe that they have to work to earn a living.
B. They think that working encourages them to produce a
lot of useful things.
C. They take working as a very important part in their hap-
piness.
D. They feel strongly that working can bring them big mon-
ey.
52. It can be inferred from the passage that people have
attitudes towards their jobs. '
A. rather positive B. a variety of
C. rather negative D. quite similar
53. What does “climbing the ladder” in the second paragraph in
the passage mean?It means that someone .
A. is going upstairs
B. succeeds in making himself higher in the economic and

social position



